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Q.No: 1 Qutubudin Aibak, the first ruler of Delhi Sultanate, had constructed Qutub Minar around-

2427457
et Feamd & Ugd NS HggeH Tad A $aa HFR BT Fmfor fam or-
1199
A
1199
1299
B
1299
1399
C
1399
1499
D
1499

Correct Ans : A

Subject : General Knowledge

Q.No: 2 Which of the following statements regarding Tokyo Olympics 2020 is not correct?

2427529
At Srcife 2020 & T 9 § § o @ HuA 9 T D 2
This was the 32nd edition of the Olympics.
A
Tg SR P 328 WH0 T |
The official motto of Tokyo Olympics 2020 was “United with Emotions"”.
B
A 3ifis 2020 BT NGRS e I “HraIsiT F IR 1|
India finished 48th with seven medals.
C
HIRT T UEPT & Y 489 RIF W 61|
China won the most medals.
D

e S1ET g HiT 3 Sitan|

Correct Ans : D

Subject : General Knowledge

Q.No: 3 The War of 1812 was fought between the US and

2427568
1812 &1 I 3@RaT iR F f a<T T U7
Great Britain
A
e fa
Canada
B
DSt
Russian Empire
C

=t T

D Germany

Su



SR

Correct Ans : A

Subject : General Knowledge

Q.No: 4 OPEC is formed by five Producing developing countries in Baghdad in September 1960.
2428895
30 P1 715 Ui e faerreiier 3t gRT RideR 1960 A wwrere # fovn T
Electronic Items
A
TR HReH
Oil
B
G
Robotics
C
Jsifea
Aritifical Intelligence
D

CEEE ETh

Correct Ans : B

Subject : General Knowledge

Q.No: 5 Michael Phelps, popularly known as the Flying Fish, has won how many gold medals in the Olympics?
2430526

T e & A | AR ARed hew A sifafe o by @l ugw o §2

22
A

22

23
B

23

24
C

24

25
D

25

Correct Ans : B

Subject : General Knowledge

Q.No: 6  Who among the following leaders was associated with Azad Hind Fauz as its founder?
2433604

FProfafea § I S 91 A1 SRS S T H Aeg §E B T g 9r?

Ras Bihari Bose

A
I R d
Lala Lajpat Rai
B
T TSI I
Madan Mohan Malviya
C
HeH Hig Hieda
Abul Kalam Azad
D

A M TG
Correct Ans : A

Subject : General Knowledge



Q.No: 7  Yen is the official currency of which country?

2434067
2 R %1 B IR T 3 7
China
A
ikl
Japan
B
EIeiE]
South Korea
C
Sfaror i
Philippines
D
oty

Correct Ans : B

Subject : General Knowledge

Q.No: 8  Shivalik hills are part of which of the following?

2435810
TRrarfees veTel Fafifed # § fhue few 82
Aravali
A
SRTIA
Western Ghats
B
Uiy ure
Himalayas
C
fewme
Satpura
D
ST

Correct Ans : C

Subject : General Knowledge

Q.No: 9  Who among the following ended the Mauryan dynasty in 185 B.C.?
2435889

Froffaa & @ e 185 €., & A 9w &1 sfd fasar are

Vikramaditya

A

GEZ G

Brihadratha
B

Jesd

Pushyamitra Shunga
C

Tt g

Ajathshatru
D

ST

Correct Ans : C

Subject : General Knowledge

Q.No: 10 Which of the following female tennis player has won the Golden Slam in 1988?
2440848

Frofifea 3 § fbw aita 2w faardt 3 1988 & ficsT @W i 82



" Duiena winams

Fe fafeer
Margaret Court
B
ArRe Bé
Steffi Graf
C
W B
Martina Navratilova
D

wféaT Faifareiiar

Correct Ans : C

Subject : General Knowledge

Q.No: 11 The 'Tulsi Utsav Raghunathgatha' is a -days celebration.
2441044
gl ST IR i 1 3wa B
two
A
Q
three
B
ik
four
Cc
IR
five
D
=

Correct Ans : B

Subject : General Knowledge

Q.No: 12 The Rashtriya Gunakar Mule Samman is given to personalities for their achievements in -

2441067
T O A TR SfGRTd B SAH! H Juaferd % fog ez s 2 -
the protection of music, culture and art
A
T, Spfa oIR Fe o1 JREm
Hindi Software, Search Engine, Web Designing, Digital Language Lab, Programming, Social Media, Digital Audio-Visual Editing etc.
B
Rt wiwedeR, d 3o, 9@ FEomsf, fSfoea daw A, vnf, dere s, ffea sifsar-figem ofsfer s
development of Hindi language and its dialects by persons of foreign origin
c
=it ga & safdadt grRY R e ofR st et &1 e
Scientific and Technical Writing and Text Books in Hindi
D

R & G SR ap-iost AR ofR UTed g

Correct Ans : D

Subject : General Knowledge

Q.No: 13 The Mahakaleshwar Temple of Khargone depicts the architecture of which dynasty?

2441235
T HT HGIHTAR TR g o=y o9t aRgaman ol i 82
Maurya

A
Ard

B Paramara



Gupta
G
fusl
Chandela
D
e

Correct Ans : B

Subject : General Knowledge

Q.No: 14 Where was the first dry port built in Madhya Pradesh?

2441469
A Y F U S1$ UE el S T ot
Mandideep
A
Ecicil)
Pithampur
B
LI
Khajuraho
C
T
Satna
D
RIGE]

Correct Ans : B

Subject : General Knowledge

Q.No: 15 Jamwantki caves and temples are located in the area of:

2441563
SHEda TH SR Wi fred & A Ra ¥?
Singhori wildlife sanctuary
A
R geile snrareg
Van Vihar national forest
B
7 fagR g &
Pench Tiger Reserve
Cc
U9 TR Red
Satpura Tiger Reserve
D

ST egR Rerd
Correct Ans : A

Subject : General Knowledge

Q.No: 16 Which homegrown Fast-Moving Consumer Goods (FMCG) Company has proposed to pump in Rs.500 crore for setting up a manufacturing facility in Smart Industrial Park (SIP)
2441652

e o PRe-HfdT FoEER TS (TW.0A.H.Sf.) St A diymgr & e Sefeaa uid (va.ens.dt.) § uw fafmfor giawn wifia @A & R 500 91 39 @ &1 Raa et 82

Hindustan Unilever

A
fegwam gfeliar
Dabur

B
SR

C Britannia



(B T

ITC

SRR

Correct Ans : B

Subject : General Knowledge

Q.No: 17 BHEL stands for__

2441688

We (S1.09.3.00.) BT Q0 S R_

Bhopal Heavy Electricals Limited
A

e gt eifdeere Rifies

Bharat Heavy Elecctricals Limited
B

YR 3 Fafkeme fafies

Bhopal Heavy Electronics Limited
c

i 4t g fbds

Bharat Heavy Electronics Limited
D

YR 3 3aeea fufes
Correct Ans : B

Subject : General Knowledge

Q.No: 18 Which of the following was not one of the States which was merged to form Madhya Pradesh in 1956?
2441741

1956 B Fnfafad & I SH-11 I57 A9 W F9M & R e b My Il § | v A Are

Nagpur
A

TR

Vindhya Pradesh
B

ffem ww

Bhopal
C

Har

Madhya Bharat
D

AY YR
Correct Ans : A

Subject : General Knowledge

Q.No: 19 What amount has been allocated to Madhya Pradesh under the Jal Jeevan Mission by the Union Government for 2021-22?
2441837

T Sita fIRM & 98a S5 WOR gRI 2021-22 F o0 Aeandy o fraet ik sdfea 31 7w @2

Rs 5,117 crore

A
5,117 TS 9
Rs 6,329 crore
B
6,329 TS U
Rs 7,167 crore
C
7,167 BT T
Rs 1,395 crore
D

1,395 TS 39T

Correct Ans : A



Subject : General Knowledge

Q.No: 20 Dilwara Jain temple is situated in which of the following place?

2442489
frerareT S wfe Fafafea # 9 fre oA w @ §2
Jaisalmer
A
SR
Bhopal
B
e
Mount Abu
C
AT 31,
Gwalior
D
aifeR

Correct Ans : C

Subject : General Knowledge

Q.No: 21 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s
2422820

Assertion (A): The bio magnification of a river causes the water suitable to drink.

Reason (R): The level of toxicity increases as it is passed from one level of an organism to the other level’s organism, resulting in hazardous outcomes.
e Fofafed gy # < $F € i 3 @ 3 aifidyT ok g S "SRU" & ¥ H daa 5 @ 81 oMd) 3 S Hul B aurigde o St @ oR 3T e fawedt # 9 uy @1 96 Sw
SHHHUT (A) : T F T 1A F FRO U B 9 | @ g

PR (R) : fASITda &1 ¥R g ST § Fife T8 o & T TR T SR TR & oid § RIARA 8 SaT 8, S o g a1 uRom o g €1

The (R) statement is not true.

A
(3IR) HYT T T 81
The (R) statement is the correct reason for the (A) statement.
B
(31R) P T8 PR Y
The (A) is the correct statement.
Cc
(@ TR TR E
The (A) is the wrong statement.
D

(T) T FU 71
Correct Ans : D

Subject : General Science

Q.No: 22 What are the major sources of salty water?

2422839
@R urft ¥ ygw i @ ¥
River, ponds and springs
A
T, dee oK T
Tub, tap water and glaciers
B
<q, T BT ur oK e
Ocean bodies and glaciers
C

TErrR Fowt R fRag

D Seas and ocean bodies



TIGR VIR 0ITITIS TTHAH
Correct Ans : D

Subject : General Science

Q.No: 23  Quicksilver is also called:

2422847
fwRier @1 7g W el o &:
Mercury
A
URT
Lead
B
s
Calcium
C
Hickrm
Arsenic
D
EIniEcd

Correct Ans : A

Subject : General Science

Q.No: 24 Symptoms of rabies start to appear within 90 -175 days of
2423001

&t & qem ¥ 90-175 &l F iR foer 37w &)
Dog bite
A
A B Bl
Mosquito bite
B
R BT
Cat bite
Cc
foreft &1 1T
Human bite
D

e FTe

Correct Ans : A

Subject : General Science

Q.No: 25 What does a decrease in blood supply in the heart can lead to?
2423012

TS W X 91 SMyfd H1 9 & 1 ) Yo 82

Nausea

et

Heart attack

R wTERT

Stroke

ST

Tiredness

YH
Correct Ans : B

Subject : General Science

Q.No: 26 Which of the activity is considered to be healthy?



P PRIV ]

B W il T A o 82

Physical inactivity

A
foe RfSegar
Using a phone for long hours
B
A G G B BT R BT
Sleeping early
(o}
St
Sleeping late
D
RINER

Correct Ans : C

Subject : General Science

Q.No: 27  Which one the following is the characteristic feature of gymnosperms?
2428030

Frofafed # & -3 Rrirad 3t fadwa 32

inconspicuous unisexual flowers

SRR Sl gar

simple plant

YR Gt

flowering showy plant

=3 femadl g

cedar

@R

Correct Ans : A

Subject : General Science

Q.No: 28 Which of the following is one of the major phyla of invertebrate animals?
2428725

Frafeea & @ 91 omdea) sqel & e T A w8

reptiles
A
wagw
algae
B
fa
bryophytes
C
ElEILECs]
Echinodermata
D

TFHISHET

Correct Ans : D

Subject : General Science

Q.No: 29  Which of the following is the basic unit of classification?
2428792

ot # § &1 qed 931 e Joft §2

species

yrfaat



s
family
C
Rkar
kingdom
D
B / fedem

Correct Ans : A

Subject : General Science

Q.No: 30 Which amongst the following is not a characteristic feature of phanerogams/spermatophytes?
2428816

Fuffea & I SH-1 BaRmm/Io] ured 31 ke 72 82

they are seed-bearing plants

A
IRARIE a7 3R TR TG B
gametophytes are nutritionally dependent upon sporophytes.
B
TG BT 3R WeA §
fertilization does not require an external water source.
G
1 1 R e @
they are seedless plants
D

o 71 R e ?

Correct Ans : D

Subject : General Science

Q.No: 31  Not a cause of air pollution is

2429014
1Y UgUI BT SRU TG ®
Electrical vehicles
A
forgge e
Industries releasing harmful gases and smoke.
B
TFERE T SIR yait St Tt Sl
Burning of garbage.
C
FST-IRBC Sl
Burning of crackers.
D

e Sl

Correct Ans : A

Subject : General Science

Q.No: 32 Water containing lead causes

2429030
W gad U & BRO G
Sound problem
A
af wrwr
Nervous system issue
B

AT a7 o w1

C Mental retardedness



WU i

Reproductive problem

TS q8=1
Correct Ans : C

Subject : General Science

Q.No: 33 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s
2429032

Assertion(A):Water does not get polluted by washing the clothes in the running water of the river.

Reason(R):Detergents used for washing the clothes pollute the water.

= Pofafaa uy & @ oy € O ¥ td o "ifiidya" 6iR g & "SRU" & T H A9a 541 T g1 SMUH) 37 S SuAl 3 FaurigdE o st § 9k {3 e fawedt & & uy &1 9 W

3fPYT (A) : T F 783 UFT ¥ BUS O F U vgfa T B 1

PR (R) : FYS 4 F Mg Fwmw fFT o ar fSesie urt &1 wgfia a3 g
Both A and R are true

A

T 3R o Il T §

Both A and R are false
B

T 3R o N e §

A is true but R is false.
C

T T § AT AR S B

A is false but R is true.
D

T 39 § A SR ¥ 3
Correct Ans : A

Subject : General Science

Q.No: 34 Natural gas is a mixture of gas.
2430063

Bicancakin: B ko At A

Hydrocarbons
A

TR

Alcohols
B

IR

Amines
c

SR

Ketones
D

Fe

Correct Ans : A

Subject : General Science

Q.No: 35 is obtained by chemical treatment of wood pulp.
2430087

qAHS & T & TIAAS ITAR GRT WIS 1 S g1

Nylon
A
AR
Polyester
B

iR



et

Cotton

IUNA
Correct Ans : C

Subject : General Science

Q.No: 36 Find the wrong term in the series?

2422592
2, 4, 12, 48, 240, 1444
g T IO W P U a?
2, 4,12, 48, 240, 1444
12
A
12
a8
B
48
240
C
240
1444
D
1444

Correct Ans : D

Subject : General Reasoning

Q.No: 37 In the following question, a series of letters is given. Some letters have been removed in these series, and they are in the options given below the series in the same order as 1
2422672 apd find the one that best fits in place of the missing letter of the series.

a__ba_ _cbaac__aa_ _ba

frofafa sy & sierl 3 TF gaa T {1 37 sawnell ¥ $7 s4eR ger fRu TN ¥, ok 3 g & i fiu  fawedt # St ow € R S S AiiRw) N fu e AR fawedt # § @ v men &

a__ba__cbhaac__aa ba

ccbb
A

ccbb

cabc
B

cabc

cbcb
C

cbchb

cach
D

cach

Correct Ans : B

Subject : General Reasoning

Q.No: 38 Find the odd word out.
2424520

ST &g BT TG DT

A India



HRd

South America

B

Sl etfept

New Zealand
c

Teids

South Africa
D

Sl Spiet

Correct Ans : B

Subject : General Reasoning

Q.No: 39 Select the letter-cluster that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first letter-cluster.
2426298

DCEF: QPRS :: XWYZ : ?

I 3HER-TIE BT TG X ol IR HeR-T0g J SU! UHR Tafld § I gU S1eR-TGE, U HeR-9g I el 21

DCEF: QPRS :: XWYZ : ?

IHGF
A

IHGF

STUV
B

STUV

SRQP
c

SRQP

KILM
D

KILM

Correct Ans : D

Subject : General Reasoning

Q.No: 40 Select the option /number which is related to 3* number in the same way as 28 number is related to a

2426398 |4 number?
4:25u7:7
3H TEAT /Aehe &1 99 wL o Sl TEw ¥ 3 TR Fafia § S gud §Ear gger
TEAT ¥ T § |
4:25::7:?
43
A
43
64
B
64
21
C
21
81
D
81

Correct Ans : B

Subject : General Reasoning

;2;"\12&244311 Select the option /number which is related to 3" number in the same way as 28 number is related to ¢
1st number?

1234 :484 1729 :?



3@ T fadeT & 797 F S WY TEW F W IFR FaOT § SF @Y T ggen
T ¥ HeET § |

1234 :484::1729:?

144
A

144

169
B

169

225
C

225

361
D

361

Correct Ans : A

Subject : General Reasoning

Q.No: 42 In the given figure, Which number represents wild Animals with big claws?

2426563
Notails Big claws
Yy A 4
AVA
%
Wild animals
& g g #, M- FBn & Ul ard Simelt S 3 g 87
Notails Big claws
Y A 4
%
%
Viild animals
2,9
A
2,9
9
B
9
5,9
C
59
3,8
D
3,8

Correct Ans : A

Subject : General Reasoning

Q.No: 43 In the given diagram, Circle represents the farmers, Rectangle represents educated and Triangle represents rice.
2426608

N
/6 N\

How many farmers are educated?



o e s B, g1 framl a1 e wwar g, emad Rifea &1 ufiffia wvar @ ok Ay T &1 wfaffia #=a ?)

/N
RSN
/6 N\
T v Rifdra &2

10

8
Correct Ans : D

Subject : General Reasoning

Q.No: 44 Kusum is the wife of Ravi, Govind and Prabhu are brothers. Govind is the brother of Ravi. Prabhu is Kusuma's?
2429578

A, M T uel ¥1 Tl ok wy i ¥ Tiifde, < o1 uiE 1wy 1 oA | | Wey B

Cousin
A
B
Brother
B
LIS
Brother-in-law
C
SER-F-u
Uncle
D
el

Correct Ans : C

Subject : General Reasoning

Q.No: 45 Which answer figure will complete the pattern in the question figure?

2433479
| ,
WA
BH-U IR Pl W 3T F e @ @ Byl
N )
WA
A
vV El




M
IZN
17&[&[
IAE
IAE

Correct Ans : C

Subject : General Reasoning

Q.No: 46  Select the option that will come next in the given series?

RN

J4 fadhed &1 Iu Y St < 18 g H M g

ZIE

BN
et
/4
%




O

Correct Ans : D
Subject : General Reasoning

Q.No: 47 Select the option that is related to the fourth number in the same way as the second number is related to the first number.
2434891
12:146::7?:227

I9 fapeq &1 797 &% St It Sem § S veR wefia SR et T, Ugd S & Tt 21

12 :146::?: 227

17
A

17

15
B

15

13
C

13

14
D

14

Correct Ans : B

Subject : General Reasoning

Q.No: 48 In the following question, choose the pair/group of words that shows the same relationship as given at the top of every pair/group.
2438387
Bird : Nest :: Cow :

I fiwed B 757 IR o IR Teg A I TR TG & N g9 g ged g § HEld g

el : G ;MY

Jungle

B Cave



u

Den
C
il
Cowshed
D
e

Correct Ans : D

Subject : General Reasoning

Q.No: 49 Mr. Thakare starts jogging from his home to the nearby park. He jogs 7 m towards east and then jogs 9 m to his left. He then jogs 6 m to his right and then jogs 11 m towards
2438481

off BTHY AT TR Y U & U H ST E R o1 98 g4 B 3R 7 Hiex ST FRd 3 iR R 9 Hex ardl sik St o 31 fR 98 o qifeh 9iR 6 Hiex Wil v § ofR bR 11 Hier SR e

16
A

16

25
B

25

20
C

20

18
D

18

Correct Ans : C
Subject : General Reasoning

Q.No: 50 If the mirror is placed on the line, then which of the answer figure is the right mirror image/jpg of the given figure?

2438706
A
B

I T YU BT 3R TS 3@ R @ T, A T wed angphodl 7§ 4 -0 w6 qdor 3 grfe

A
B

A

B




& (&[] |

Correct Ans : A

Subject : General Reasoning

Q.No: 51 Suresh’s sister is the wife of Ram. Ram is Rani’s brother. Ram’s father is Madhur. Sheetal is Ram’s grandmother. Rema is Sheetal’s daughter-in-law. Rohit is Rani’s brother’s son
2439293

X BT T T B Uell 1 7 I BT UE R I S o meR ¢ e a9 3 <t &1 faa 1 9 71 At T & 91 B F1 W P o Aga oA 82

Brother-in-law

A
Sfesft
Son
B
@
Brother
C
g
Nephew
D
Hefter

Correct Ans : D

Subject : General Reasoning

Q.No: 52 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440188 When she comes home, she brings sweet

A. she came home

B. she did not come home

C. she brought sweet

D. she did not bring sweet

fow M gy g HUF SR IS 918 TR HUF §1 YA BT AT GH T, T Ted ST BT A G HAF W 7, R & FUA AP T § T FUT A T 3
S 98 W 3wl @ d fer ol 8

A TR T

B. 98 W T o

C. ¢ fhiatg g

D. T8 fHaTS el g

AC

AC



DA

DA
C

DA

CcD
D

CcD

Correct Ans : A

Subject : General Reasoning

8;‘!\‘1‘0:253 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
0238 If you interrupt her continuously, she will throw you out
A. you interrupted her continuously
B. you did not interrupt her continuously

C. she threw you out

D. she did not throw you out

3T 7T wy & HW1 U 3R ITF GG IR FUF &1 HUA BT HAG TH T, el Ugd FUT P A G P W B, 3R @ Sy AIfHe T J g81 HYF J W )
IfE MY I§ AR MG 4 ¢, @ T8 P! TR Fapra T

A. ST I AR SR foban

B. 3fT0R I AR aia e famar

C. 35 R a1’ B faar

D. IE 3UP! SR a1 bl

BD
A

BD

BC
B

BC

DA
C

DA

DB
D

DB

Correct Ans : D

Subject : General Reasoning

%&02254 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
0263 The officer will respond if you write complain officially.
A. you wrote the complain officially
B. you did not write the complain officially

C. The officer responded

D. The officer did not respond

R T gy # 9o S SR IF 918 IR HYF §1 HYA BT BT GH T, T Ugd FUT BT I GO HYF W 7, R & FUF qfbP FY Y T FUT I WA 3
ofg o e dR W fRiema fored § @ SRt s 3

A. 3o SfeRR® dR R R ot

B. 30 MRS IR W R e ot

C. SHfIHR 7 arg fer

D. SRS 3 PIg wrarg T faar

BD
A

BD

BC
B

BC



DA
DB

DB
Correct Ans : D

Subject : General Reasoning
Q.No: 55 Select the option that is related to the third term in the same way as the second term is related to the first term.
2441958

GWR : HZW :: C1O : ?

I e ST 90 $¥ ol TR U8 & I YR el R R UHR g1 ue ugdl ue A GaRid § |

GWR : HZW :: CJO : ?

DNT
A

DNT

DMU
B

DMU

DNU
C

DNU

DMT
D

DMT

Correct Ans : D

Subject : General Reasoning

Q.No: 56  Simplify: 166+30+6—-7x2

2422342

TR BT 166 +30+6—-7 % 2

155
A

155

145
B

145

100
C

100

157
D

157

Correct Ans : B

Subject : General Maths

Q.No: 57 qiranlifu- _ _ {50~ s
2422367 Simplify: 316-[103- {50 +3(17-14)}]

TRA DI 316 - [103 - {50 +3(17-14)}]

300

300



272

281
C

281

-272
D

-272

Correct Ans : B
Subject : General Maths

Q.No: 58 . B 1 . i
2423604 Find the compound interest on Rs. 2470 at the rate of 7% per annum for 15 years when interest is

compounded half vearly.

2470 79 @ 1A & AT 7% A o f @@ ¥ TRy sar T RRAC S s ek
aifder &9 & FAferd famar SIrar 1

Rs.555.85621

A

Rs.555.85621

Rs.391.3789
B

Rs.391.3789

Rs.281.3442
C

Rs.281.3442

Rs.188.9870
D

Rs.188.9860

Correct Ans : A

Subject : General Maths

Q.No: 59 Find the compound interest on Rs.15600 for 9 months at 32% per annum compounded quarterly.
2423619

15600 IUY HT 32% Uid I 3 &R F 9 T T Tpgla O I1d BN, 3 s IR 3T 31
Rs.45098.4387

A
Rs.45098.4387
Rs.61245.6134
B
Rs.61245.6134
Rs.389.3454
C
Rs.389.3454
Rs.4051.5072
D

Rs.4051.5072

Correct Ans : D

Subject : General Maths

Q.No: 60 Solve:
2428584
{74.56 x 6 + 12,12 + 4 - 1.5 x 1.5 - [70.56 - 8.4 x 6 + (15.15 + 3 + 5.5 of 4)]}

Ik
{74.56 x 6 + 12.12 + 4 - 1.5 x 1.5 - [70.56 - 8.4 x 6 + (15.15 + 3 + 4 BT 5.5)]}

400.93

400.93



D 400.83

400.83

400.84
C

400.84

400.94
D

400.94

Correct Ans : A

Subject : General Maths

Q.No: 61 The average age of A, B and C was 25 years and that of B and C was 25 years. A's present
2432527

age is:

A, B 3R C 31 3Rt arg 25 @ Rt 3R B oik C @3t 31rg 25 avf i A &1 adam
IY |1 R?
22 years

22 9§

24 years

24 7
25 years

25 9§
26 years

26 3

Correct Ans : C

Subject : General Maths

o2 Ifa+b=8and ab= 13, find the value of a2—ab + b? .

g a+b=83MRab=13 8 dl a2 — ab + b2 BT A Jd B3|

20
A

20

24
B

24

29
C

29

25
D

25

Correct Ans : D

Subject : General Maths

.No: 63 .
3434740 The greatest of the following number ¥8.376,413, 41

frafafed & O 9a98 99! T %, 16,453,941

A 413



Y13

16
B

16

a1
C

a1

s
D

¥

Correct Ans : D

Subject : General Maths

Q.No: 64 P . .
2434770 I 5% + 3y =7 and 125x3 + 27y3 = 280, then the value of the product of x and y is:

& 5x + 3y =7 and 125%3 + 27y3 =280 §, dl x 3R y & YU b A I b

O =

B~ o=

1
5
Correct Ans : D

Subject : General Maths

Q.No: 65  Find the single discount equivalent to a series of 30%, 20%, and 10% is
2435215

50%
A

50%

49.6%
B

49.6%

49.4%
C

49.4%



2170

51%
Correct Ans : B

Subject : General Maths

Q.No: 66 The price of a neckles, passing through three hands, rises on the whole by 65%. If the first and second sellers gained 20% and 25% profit respectively, find the percentage pr
2435235

TF BR Bt BId, o7 fasmarel § ToRd T, 65% d% dg Wt 31 3 Tgat ok g fasmarefl 3 H1=1: 20% 3R 25% @ wiw famar, o Far fassar gRT ure wfomra e 3 a3

10%
A
10%
22%
B
22%
18%
C
18%
12%
D
12%

Correct Ans : A

Subject : General Maths

Q.No: 67 Find the profit/loss in percentage, if the cost price of 15 notebook is equal to the selling price of 20 notebooks?

2435295

g 15 g FT 7 T 20 Alcgd & 360 Tea & RIaR @, dl wasra F /e Jia Sifon?

25% less
A

25% B

25% profit
B

25% qH

45% profit
c

45% T

45% loss
D

45% gify

Correct Ans : A

Subject : General Maths

Q.No: 68 What fraction of 4 hours is 18 seconds?

2437473
4 4¢ 18 ¥dbs & forw fir grd X1
i
400
A
i
400
2
500
B
L
500
C 1



800

Correct Ans : D

Subject : General Maths

Q.No: 69 Sonu read one third of 105 pages. How many more pages he need to read to complete the lesson?
2437493

WY 105 99§ & 0 Rgrd 78 03 o W6 B [0 A ¥ R I ok Read 78 wgd g

50
A

50

55
B

55

70
Cc

70

90
D

90

Correct Ans : C

Subject : General Maths

QNo: 70 yhatis the value of (4.6 +3.1) — (4.6-3.1)?

2437553
#.6+3.1P - (4.6-3 1) FIAAICA D
57.04
A
57.04
58.86
B
58.86
53 .32
C
53 .32
54.68
D
54.68

Correct Ans @ A

Subject : General Maths

Q.No: 71 If in a symbolic language ‘BAT’ is written ‘DCV’ then *MAN’ will be written in the same language as?
2422542

Tt fmet wickfas uie1 # 'BAT' &1 'DCV' forar T df 'MAN' &1 it i1 # feran s forerdi?

ocpP
A

ocp

PCO
B

PCO

C OPC



vro

cop

cop
Correct Ans : A

Subject : Mental Ability

Q.No: 72 If in a symbolic language ‘STAGE' is written ‘TUBHF' then *STRANGER’ will be written in the same language as?
2422572

g ot widsfad uTeT & 'STAGE' &1 ‘'TUBHF' foRal WITT df *STRANGER' &1 Ift uren ® fern smerm fored?

TUSOBHFS
A

TUSOBHFS

TUBOFSHS
B

TUBOFSHS

TUSBOHFS
C

TUSBOHFS

TUBSOHFS
D

TUBSOHFS

Correct Ans : C
Subject : Mental Ability

sz;‘l\lzo 5:57930 In a row of 30 students, A is 14% from right end. Then find the rank of A from left end.

30 B B TP Ui F A T8 BR ¥ 143 ®H R 81 A 9 BR A A F IF I IR

17
A

17

16
B

16

15
C

15

14
D

14

Correct Ans : A

Subject : Mental Ability

Q.No: 74 Identify the set for the number 3425.

2426508
T 3425 & AT St 99y @t ugdH il
SEIU
A
SEIU
SIUE
B
SIUE
SRUI
C
SRUI
SIEU
D

SIEU



“UlITLL AR .

Subject : Mental Ability

Q.No: 75 Identify the set for the number 6458.

2426538
T 6458 & AT WS W=y 3! Ug=H Fiforgl
MUIN
A
MUIN
MINU
B
MINU
INUM
c
INUM
MIUN
D
MIUN

Correct Ans : D
Subject : Mental Ability

Q.No: 76 In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be true even if they seem to be at varian
2430223 (5| |0w from the given statements. Indicate your answer.

Statements: “Use sketch colours. They add colour to your life.” -An advertisement said.
Conclusions:
I. That Statement doesn't attract people.

I1. People like dark colors.

Frofefea usit &, 3 Fu Q) Fspy 1, 11 BT SER0 IR § M!Sl DUAl TR faaR S g, 4 €t 4 SHaR W 91d ail & wedia g9 @1 gt g fiw e wvumt & afe; e 21 df 31 9am

PY: S T BT UE FY| F TP e F TR T - g T
Frsp:

1. 98 U T BT BT Tt B B

11. IRT 76X ¥ 0¥E $d B

Only conclusion I follows

A
S e 1 SR oY §
Only conclusion II follows
B
Y Fep 11 SR el §
Either I or II follows
C
1A 1 97 1T STER Bl §
Neither I nor II follows
D

AW I IR TE 11 IR HRal §
Correct Ans : D
Subject : Mental Ability

Q.No: 77 In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be true even if they seem to be at varian
2430252 o) 10y from the given statements. Indicate your answer.

Statement:

This chapter can help because all good chapters help.
Conclusions:

A This is not a good chapter.

B This is a good chapter.



L INU uuu ulaplern neip.

D Some good chapters help.

Frofafea wsl &, & FuT Q Fspd 1, 11 ST SR IR § S1UD! S Sl TR AR o g1, 4a € 3 SR W 1d aeil § wedia 89 ail| ot B e e st & afe; fresed g1 a 3T gm

FU: TG AT AI IR THdl § i Gl ofy SN Heg &R g
Frsed:

T 95 TP 30T AW T B

o 9% @ 33T U B

0 P ST 31eATd Teg TR

3 TT AW AU HEE I ¢

Only conclusion I follows

P Y 1 SR AT §

Only conclusion II follows

Faa Frepf 11 SRTeRT Feal §
Either I or II follows

I I 7 11 SR el §

Neither I nor II follows

TA 1 AR T LI TR FRA§
Correct Ans : B
Subject : Mental Ability

Q.No: 78 In question below are two statements followed by two conclusions numbered I and II. You have to take the given statements to be true even if they seem to be at variance fro
2435465 the given statements.

Statements:

1. Some luffa are figs.

II. All figs are lemons.
Conclusions:

I. Some lemons are luffa.

I1. Some figs are lemons.

i fem e Ty § S U SR I9F a1 3§ I 1 8iR 11 T Y B st T T ol 1 B AT 8, TR 3 9T 91d a9 i i S 2, snut Fofa e & i RRw e el  § o
PU:

1. $% RS SR B

11 oft ofefiR Fig

frsp:

L 39 g dRs 81

11. % 3R g 3

Either conclusion I or II follows.

a1 & feef 1A 11 SRR e §1

Neither conclusion I nor II follows.

TN e 1 3R TS I SR e B

Only conclusion II follows.

Faat Y 11 SeR0 Hva B

Both conclusions I and II follows.

SRl Y 1 3R 1T SRR 34 &
Correct Ans : D
Subject : Mental Ability

Q.No: 79 Two statements are given followed by two conclusions numbered I and II. Assuming the statements to be true, even if they seem to be at variance with commonly known facts



LTI IT LT DLALEIITIIL.
1.Some teachers are philosophers.
2.Some philosophers are writers.
Conclusion:
I. some writers are teacher

II. No writer is a teacher

QA HA F a1g 3l e 1 iR 11 G M 71 AT Y gl @) W A gY, M € d Ia: 1 9l & 9y R ava g, a8 vl | e o a1 frad fw e e o aiffe w0 d SR a3
FU:

Fo Riew it 81

$O RIS 6D g

e

1. 7B ATP RIeP §

11 B 4EP e T 3

Only conclusion I follows

A
Faq e 1 SR e §
Neither conclusions I nor II follows
B
3 Fremd 17 8 1T rgERe B §
Only Conclusion II follows
c
e e I1 SFeRw 1 &
Either conclusion I or II follows
D

1 < fAepe 197 11 SRR BT §
Correct Ans : D
Subject : Mental Ability

gg‘gsios In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.
Statements:
G>R2E=A<ZSTZ<S
Conclusions:
I.G=2E
ILR=ZA

AT 93 &, Fue! & arg fvay G 7w §)

TEU 1T @vefell & HTUR TR TAsehd &l HeqTer Y 3N AT el & &9 & 3Ugad [qwed & T4 B
FU:

G>R2E=A<T<S

o

LG=2E

ILR2A

Only conclusion II is true

A
Faa fred 11T
Only conclusion I is true
B
Faq e 1 99
Either conclusion I or II is true
C
gafef i sas
Neither conclusion I nor II is true
D

TR S I IRTH I TT R
Correct Ans : A

Subject : Mental Ability

Q.No: 81
2438569



1N e ToloWINg question, the STaltements are Tolowed Dy CONCIUSIONS. Study the CONCIUSIONS Dasea on the given
statements and select the appropriate option as your answer.

Statements:

D2F=H2>1

Conclusions:

I.D=H

I.LILD

AFAfatad 9 &, FU! & arg, vy fGu e g

U 9T T & HIUR TR IAHT @7 37eT0 BT AR 39 Seal & §9 A 39gad fadhed B a1 H
U=

Dx2F=Hz2I

o

ILD=H

ILI<D

If only Conclusion I is true

A
TfE Faa fred 1 93 ¥
If only Conclusion II is true
B
Ifg Faa P 11w §
If either Conclusion I or Il is true
C
ofe wr & fremd 1 o 11w ¥
If neither Conclusion I nor II is true
D

RIAAPI I ARATIITT R
Correct Ans : B
Subject : Mental Ability

8;‘”3‘;58928 In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.
Statements:
G=H, H<LE
Conclusions:
I.G<KE
I.G=E

fAFATITRIA 9 A, FUAT & dIg, oy 6T 71T &

T 1T T & HUR R Aewd a7 edde B 3T AT 5007 & 79 A 39gad [deed & a9+ Hil
C2iCH

G=H H<E

oo

LG<E

IL.G=E

If only I follows

Faa e 19 R
If only II follows

Faa ey 11 T9 §

If either I or II follows

gafeed i vasg

If neither I nor II follows

TFafS I R TA I TA R
Correct Ans : C
Subject : Mental Ability

Q.No: 83 In the question given below, two statements are given followed by two conclusions I and II. You have to consider the statements to be true even they seem to be at variance f
2439084 fo|low from the given statements.



DiaLteineii.

All slates are pencils.

All slates are pens.
Conclusions:

1. Some pens are not pencils.

II. Some pens are pencils.

1 faw e gy 7 S H U IF uTa Q) Frse 1 aun 11 R e | 1 smuet T T Fue &1 9 AFAT § |, 4O Gl 98 I99d axdl 9 P TRl @ B Ul Sl SR TR ST S(9A1 SR &l §
PUY:

it we IR 3

w4t Wie 39 7

e

1. $ U Uy i 8

1. 9 I fya g1

Conclusion II follows

ey 1T 3RO T §

Conclusion I follow

Free 1 SrgERo FRaT

Both conclusion I and II follow

rpy 1 IR I T SRR IRa &

Neither conclusion I nor II follows

T s 1 30k & 1T SRR FRaT
Correct Ans : A
Subject : Mental Ability

Q.No: 84 Arrange the following words in a logical and meaningful order.
2442671

1. Writing

2. Book

3. Seller

4. Idea

5. Feedback

6. Reader

fafafea el @1 t@ difhe ©d quf HH § sgafud S
1. @&

2. g¥iD

3. fagar

4. fER

5. ufagf®

6. UGH

4,1,2,3,6,5

A
4,1,2,3,6,5
4,1,2,6,3,5

B
4,1,2,6,3,5
4,1,3,6,5,2

c
4,1,3,6,5,2
4,1,2,6,5,3

D

4,1,2,6,5,3

Correct Ans : A



SUUJTLL . IFISHIlar AuTLy

Q.No: 85 Arrange the following words as per their order in the English dictionary.
2442680

1. Dyke

2. Dwindle

3. Dwell

4. Dye

Fufefea =i o1 ol Seas # fau 10 w1 & oruR fifdul
1. Dyke

2. Dwindle

3. Dwell

4. Dye

3,241

3,241
1,3,4,2

1,3,4,2

2,134

2,1,3,4
3,4,2,1

3,421
Correct Ans : A

Subject : Mental Ability

Q.No: 86 Prakash can do a piece of work in 366 days. How much work can he do in 6 days?
2423689

YT U HTH B 366 A1 A B qabal §1 7 6 A1 H fova 1 R wavall 82

Blo

Blw

e

=

Glw

61

Correct Ans : D

Subject : General Aptitude

Q.No: 87 If 31 boys earn Rs.1240 in 4 days, what will 32 boys earn in 8 days?
2423712

T 31 TSF 4 foli # 1240 T FAM €, O 32 AP 8 A & fran wanE?
Rs.6709

Rs.6709



Rs.3320

Rs.4320
C

Rs.4320

Rs.2560
D

Rs.2560

Correct Ans : D

Subject : General Aptitude

Q.No: 88 Which of the following is divisible by 29?

2427638
frofafea 8 4 $19 29 F favrsg 32
148964
A
148964
864133
B
864133
875829
c
875829
951458
D
951458

Correct Ans : C

Subject : General Aptitude

Q.No: 89 If5x + 5(2 - x) + 10 = 4x - 6 then value of x is :
2431235 g5+ 5(2-x)+ 10 =4x - 6 AX PIAM &

A
B

C

unon aan

D

wo AA 00 NN

Correct Ans : B

Subject : General Aptitude

Q.No: 90 The sides of a triangle are 24 cm, 32 cm and 40 cm. What is the height of the perpendicular drawn on the longest side?
2431353

e Ry @ @ Yot w24 A9, 32 I, T 40 AW, B1 IWS TS A YT W ST T T I a1 82

A 25 cm
25 it
B 21.33 cm
21.33 ¥ft
c 19.2 cm
19.2 It
D 20 cm
20

Correct Ans : C

Subject : General Aptitude

Q.No: 91  How long does a train, 75m long, moving at 60 km/hr take to pass a certain telegraph post?
2435996

75 ™. T TF XS 60 B, /6T F 9 § 5l e & @™ $1 R XA | fhaar wwa oz

3.5 seconds

3.5 IFs

B 4.5 seconds



4.5 Ybs

5 seconds
G

5 958

5.4 seconds
D

5.4 958

Correct Ans : B

Subject : General Aptitude

Q.No: 92 Two train running towards each-other at the speed of 50 km/hr and 60 km/hr from station A and B. When two trains meet each other, the second train covered 120 km more
2436031

) (eIl TH-gW $ 3R A 3R B ®YH § HH: 50 5. /e au 60 . /b 3t ara ¥ on & 71 fran F ama g XSt veeh Yemst @ 120 5. S g R 31 S R F ©

990 km.
A

990 fit.

1200 km.
B

1200 f&fh,

1320 km.
c

1320 f&f.

1440 km.
D

1440 &R,

Correct Ans : C

Subject : General Aptitude

;24'\‘3‘3(;02434 Two person X and Y moving from same point and same time and same direction with speed of 15
km/h and 12 km/h the speed of person Y increased by 2 km/h every after 1 hr. After what time X

and Y will meet.

A WRT XT Y& & AT W T & fm & 15 Fdivder 7 12 e & 99 ¥ Taa B T s 6
mﬁaY#mi%ﬁﬁaaﬁ?lanﬁmﬁmmﬁﬁﬁ?

13 hrs.

136
12 hrs.

12 9
15 hrs.

154
9 hrs.

9T
Correct Ans : A

Subject : General Aptitude

Q.No: 94 what is the sum of the digits of the least number, which when divided by 15, 18 and 27 leaves the same remainder 9 in each case and is also completely divisible by 11?
2436161

Ta B T F Sl 1 A @ B, By 15, 15 3R 27 A fRuifs &7 R uds RS 3 w0 9 9 fyerar & oiR 78 11 o off =g  favrsg &2

12
A

12

19
B

19



20
18

18
Correct Ans : D

Subject : General Aptitude

Q.No: 95  If a 9-digit number 32x4114y2 is divisible by 88, then the value of (4x -y) for the smallest possible value of y, is:

2436202
o T 9-oid! Ft TN 32x4114y2 88 A faursa B, o, y & gaan Tug oH F T (4x -y) FTAAR:
31
A
31
20
B
20
-3
c
-3
11
D
11

Correct Ans : C

Subject : General Aptitude

Q.No: 96 The traffic lights at 3 different road crossings change after every 48 sec, 72 sec and 108 sec respectively. If they all change simultaneously at 8:20 am, then what time they w
2436984

3 IHAT-3HTT A HIRAT R e APy TdF HHT: 48 Y6s , 72 YHs AR 108 Ybs & a1g aga ol &1 4G T Weft Yag 8:20 I U WY ggarl §, o 3 fory Tmg foRe & v vy Feihl?

8:27 am

A
g 8:27 T
9:12 am

B
g 9:12 T
8:33 am

C
YeE 8:33 T
8:40 am

D
ToE 8:40 T

Correct Ans : A

Subject : General Aptitude

Q.No: 97 The least number which when divided by 4, 5, 6 and 7 leaves 3 as remainder, but when divided by 9 leaves no remainder is:

2437927
g AN T 10 Fifer, [ 4, 5, 6 3R 7 I RAWIfa F9 R A9 3 590 §, A 99 T 9 I Rwfa o o 3, A A A9 T S 82
864
A
864
432
B
432
848
c
848

D 423



423
Correct Ans : D

Subject : General Aptitude

Q.No: 98 Y and Z can finish a work in 50 days. They work together for 15 days and then left. How much of the work is left?
2444481

Y U Z flt F18 #5150 37 H aR Ghd § ITA 15 o U TNy T IR SIS fun fran um w1 A9 w=r

7
10

Wl

[(ER

(SR

[N RS

[N NS

Correct Ans : A

Subject : General Aptitude

Q.No: 99 Shiv can finish 25% of a work in a day. Ram can finish 12.5% of the same work in a days,
2444482 pep will both of them finish the work together ?

fora @& 19 77 25% UF 29 § F 759 71w O OF 39§ 12.5% Far g, 9¢ 1491 OF 71

2.67 days

2.67 &A1
2.33 days

2.33 f&A
3.67 days

3.67 &
3.50 days

3.50 f&7

Correct Ans : A

Subject : General Aptitude

Q.No: 100 DIRECTIONS: Complete the following series.

2444671
4, 11, 25, 53, 109, 221,
= Fefrfd jam 31 @
4,11, 25, 53,109, 221, _____
442

A

442



464

445
C

445

542
D

542

Correct Ans : C

Subject : General Aptitude



